
Indices 

 

Remember:  

 

Anything to the power 0 is 1     i.e.  
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A negative power indicates a fraction   i.e.  
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2. Expand the brackets 
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3. Find the value of  

 
3 32 5 3 64 2
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     (1) 27                        (2)  16                            (3)  100                      (4) 8
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4. Find x in each of the following 

 
x x x x

x x x x

x x

 (1) 4   32                 (2) 9   27            (3) 16   32            (4) 4   32

 (5) 25   125             (6) 4   128          (7) 3   27            (8) 9   27

 (9) 100   1000       (10) 8  
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5x x x x3 5

x x x x34 4

 32         (11) 4   8            (12) 2   64

(13) 2   64           (14) 8   128      (15) 4   32         (16) 9   27

(17) 25   125       (18) 8   32         (19) 9   81         (20) 1000  

= = =

= = = =

= = = = 5 100

 

 

  

 

 



5. A formula is given as       
x
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(a) Calculate P when x = 2. 

(b) Calculate x when P = 9. 

(c) Calculate the maximum value of P given x  0≥  

 

6. A formula is given as      
a2
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4
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(a) Calculate H when a = 6. 

(b) Calculate a when H = 8. 

(c) Calculate the minimum value of H given a  0≥  

 

 

7. The intensity of light, I, emerging after passing through a liquid with concentration, c, 

    is given the formula 
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(a) Find the intensity of light when the concentration is 3. 

(b) Find the concentration of the liquid when the intensity is 10. 

(c) What is the maximum possible intensity? 

 

 

 


